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A 17} AABC 2] A1 . /BIC = 90° + %AAom.
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.. /BIC =90° + 3 x50°=115°




2. oS %o M1+ AABC 2 YAlo]1 DE//BC ¥ w, AABC 2

=89 dol=?

@ 46cm @ 47cm ® 48cm (@)49(:111 ® 50cm

B

A 17 WAl DE//BC € o,

DE =DI+EI=DB+EC o]|2&

DB + EC = 12(cm) ©]tt}.

wt2ti] AABC o] E89] Zoj= AD+AE+DB +EC +BC =
10 + 6 + 12 + 21 = 49(cm) ©]t}.
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APAD + APBCo|tt.
BRG] Hol7t 5% 6 = 300|122

APAB 4 APCD = % x 30 =15

o] g 3 poj tistod %DABCD = APAB + APCD =




@EJ.@ , LABC =90°

® AO =BO, /ADO = /DAO
® AC1DB, AB=AD
(@)0A = 0D, AB = AD

® AC=DB, /ABC=90°
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4:8=x:6

8x =24

Lox=3




7. o2 IHo|A AD = /A 9] o]5EA ot} AABD 2] Hol&= 12cm?
o|t}. AABC 9] Ho]&?

@ 25cm? @2)30cm? @ 40cm?
@ 45cm? ® ?ch

BD:DC=4:6=2:3°22 AABD : AADC =2:3
12: AADC=2:3

AADC = 18cm?

. AABC = 12 + 18 = 30(cm?)
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T Z2™ellA AD//EF //BC & ®, x+y 9] g7

® 105 @ 225 3)30.5 @ 24 ® 30

~&B

DF:FC=10:75=4:3°E2 AE:EB=x:6=4:3,
x = 80|t}
BD¢ BF 7} vht=4S Gt 5hH, EG: AD =6 : (648) =
3:70|22

EG:12=3:7 .. EG=

GF:BC=12:(124+9)=4:7°]B2
90

7:y:4:7,y:22.5°]q.

m2hA] x+y = 30.5 o]t}
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@7.50m @ 6.5cm @ 5.5cm
@ 8.5cm ® 9.5cm

AAFE o ACFB o|B=2
6:8=AE:10
. AE = 7.5cm




10. E}i a9
3ol

@ 260cm? @ 355cm?®
@ 590cm?® ()675cm

® 400cm?

8:27=200: (Z < #1)
o (2 A9 B1]) = 675cm3




11. o5 29lA H 1, ' = 212 aABD, aADC 9] Yielth. /B =
40°, £C =60° & f, ZIAI" ©] 37]=7

@® 20° @ 30° @40° @ 50° ® 60°
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olet. ( ) Qtell &gk 5 Azt

2/x+2/y+80°=180° /x+ £y=50°
/7 =180°-50°=130°
o /z—(Lx+ 2y) =130°-50° = 80°
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A 17} Azve o] YAalo]22 AD = AF,BE = BD,CE = CF
ojrt.

BD =x23lH BD=BF = x°]2,CD = 9-x = CE,
AF=8-x=AE
AC=AE+EC=8-x+9-x=790|BE217-2x=7,10 = 2x
oltt.

s x = 5(cm)




15. AABC 94 A 0 & YjAlo]1l AE ] Zo]7} 30|t} AABC =48 &
o, Al 2] Ao]o] 22

2
a—|—b—|—c=48><§:32




16. o8 g3 e gy Hﬂoﬂ ABCD 9|4 BE, DF 7} 2tz /B, /D 9]

0|58 0], DC =6cm, BC = 11em ¥ ], ED 9] Zo]&?
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.. \
\
6cm
o L/
~1lcm-
@ 3.5cm @ 4cm ® 4.5cm
@®)}5cm ® 5.5cm

(EBC = /AEB(%7})

AABE £ o547 Yol ER
AB = AE = 6(cm)
ED=AD-AE =11-6 = 5(cm)




17. o3 21493 Zo] AD/BCY Attg&
ABCDo] 9t} /BAD = /CDA &1 & of,

g & 84 g ALY §
@® AB=DC @ ¢ABC = /DCB
® OA=0D @)aD = bC

® /BAC = /CDB

~&B

A E ABCD 9|4 /BAD = /CDA°]|E2 ABCDLE SHiA}
thE|&o] Ht
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o},
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N
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18. og I¥oA AB//DCeol1, AABC = 16cm?2, ADBE = 34cm? ¥
o], DABED 2] Wo|&?

A D
B C K
@ 30cm? @ 35cm? 3@ 40cm?
@ 45cm? ®)50cm?

AB//DCo]EB& AABC = AABD = 16(cm?)
-.0ABED = AABD + ADBE
=16 + 34 = 50(cm?)




19. th3 184 A M2 BC 9 3% 4|, aADHC 9] Hol=?

@ 4cm? @ 8cm? @ 12cm?

@ 14cm? ®)16 cm?

AM € 719W, ADHM = AAMD ©|E 2,

ADHC = AAMC = %AABC =16 (cm?)




20. AD//BC <l Afth2]& ABCD 9] Hol 0ABCD = 50cm? otk
SABO = 13em? @ ), 488 20| Yol & Fatolek

A D

[ 2
> = 24 cm?

B ‘

AD //BC ©|B=Z AABD = AACD ©]1, AAOD + 3F°|E=
AABO = ADCO = 13cm?

wheba] M E BEo] Yol gABCD - 24ABO = 50 — 26 =
24cm?

o




21. o3 JHT T2 AABC YA A D, F= 247 AB, DE o] Sdo|tt
BC = 4cm ¥ 4, CE 9] do]&?
A
D
B - E
~4e¢m--"C
@D 1lem @)2cm ® 3cm @ 4cm ® 5cm
A
D, G
= E
“~4em--"C
A D oA BC o] Bahgt 24 10 AC 9F W= M2 G 2

5lH DG = 5@ = 2 (cm)

AFDG ¢} AFEC ©|4] FD = FE
(DFG = (EFC (- %Ex)Z})
(FDG = (FEC (= 9%)

AFDG = AFEC (- ASA %)
- EC = DG = 2cm




22. AABC O AL 0O #dL /A+/B:/C=4:129 1, /AOB ¢
A71E Fstoi=t

L
o

[ 2
> ™. 712°

/OAB = /OBA = x, /OBC = /OCB =y, /OCA = /OAC =
z 2tal S5HH

2x+ 2y +2z=180° x+y+2z=90°---O

Tt /A + /B =4/Co|BEE

x+z+x+y=4@y+z) ---©

Q, @E ‘_‘jo]-th—54°

AAOB £ OA = OB ¢l o] 5H4Zgo|nz

/AOB =180°— (54°x2) =T72°




23. S oA A G @ 2 ZH2F AABC € AGBC 9] BAF Aol 1,
G'D=3¢% u, AG 9] Zdo|& Falozt,

A

Q
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\VAR 4
0x
iy

B \
A G oG 2 747 AABC 9} AGBC 9] BAFA0|B 2 GG -
GD=2:1, AG:GD =2:1°|t}. GG = 2G'D, AG =
6@01_‘:’_%@:@/:@:6:2:10]‘:}. w2bA G'D = 3
o|E& AG = 18 o]t}
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25. g 1YL o] HE U] s

=L E 19 Zoj|th BC//DE ¥
Fstolet
A
Be——C
f 2cm /1crn
D ~2.5cm”
> [l J km
> He. 4km

] 100000
DE & uf, 7}o] Z AC 9] AA|9] Aol&

~&B

AC = xcm 2 514
x:x+1=2:25

2x 4+ 2 = 2.5x

Sox=4

w2ta] AA 8] dol=

4 % 100000 = 400000(cm) = 4(km) ©]t}.




